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Q1, Cultural resistance to globalisation in India has been particularly focused on:

(a) The spread of Indian classical music abroad

(b) The incorporation of global cuisines in Indian restaurants

(c) The celebration of Western holidays like Valentine’s Day and the increasing presence of
foreign TV channels

(d) The promotion of traditional Indian festivals

Q2. Which of the following statements is associated with globalisation?
(a) Creating a global village

(b) Economic isolation of developing countries

(c) Strengthening local businesses

(d) Locking down international borders

Q3. Which General Lok Sabha elections has been described as a ‘Political Earthquake’ by many
political observers?

(a) 1951

(b) 1957

(c) 1961

(d) 1967

Q4. In India, the fourth General Elections to the Lok Sabha were held in:
(a) December, 1966

(b) February, 1967

(c) November, 1967

(d) February, 1968

Q5. The era of One-Party Dominance of the Congress Party was broken in which year?
(a) 1951
(b) 1957
(c) 1962
(d) 1967

Q6. How many Lok Sabha seats did the Bharatiya Jana Sangh secure in the 1952 elections?
(a) 10

(b) 7

(c)4

(d)3



Q7. The Mandal Commission was appointed by which government at the Centre?
(a) Indian National Congress Party

(b) Bharatiya Janata Party

(c) Janata Party

(d) Samajwadi Party

Q8. From which year did the era of globalisation, liberalisation and privatisation begin in India?
(a) 1977
(b) 1984
(c) 1989
(d) 1991

Q9. Who became the Prime Minister of India after the 1977 Lok Sabha elections?
(a) Jagjivan Ram

(b) Morarji Desai

(c) Indira Gandhi

(d) Atal Bihari Vajpayee

Q10. In what year did the EU receive the Nobel Peace Prize?
(a) 2010
(b) 2011
(c) 2012
(d) 2013

Answer Key

S1. Ans. (c)
S2. Ans. (a)
S3. Ans. (c)
S4. Ans. (b)
S5. Ans. (d)
S6. Ans. (d)
S7. Ans. (c)

S8. Ans. (d)



S9. Ans. (b)

$10. Ans. (c)



